MODEL NO: ABS454A
SUBARU IMPREZA 2017UP SPOILER

KIT CONTENTS & APPLICATIONS:-

Screws M6 x 16 mm =12pcs (ForA,B,C,D,EF,G,H,1,J,K&L)
Screws #8 x 5/8 =4pcs (ForM,N,0&P)

Washers - Flat M6 x 13 x 1.0 =14pcs (ForA,B,C,D,EF,G,H,IJ,K&L)
Washers - M5 x 12 x 0.8 =4pcs  (ForM,N,0&P)

Locators =6pcs  (ForD,E F,G,H&I)

Fitting Instruction =1pc

Brief Installation Procedures:-

1. Before install the spoiler on the truck, please tighten the pedestal spoiler on
each side of spoiler with screws (A, B, C and J, K, L)

2. Tighten the small cover with screws (M, N, O and P)

3. Drill 1/8" as pilot holes at D, E, F and G, H, I (on trunk lid).

4. Enlarge the pilot holes 29/64" at D, E, F and G, H, | (on trunk lid).

5. Finish tightening all the M6 screws to hold the spoiler securely to the trunk.




